WORKSHEET

1. Fillin the blanks : _
a. The _™MZaNn of a set of values is the sum of the values divided by the number
of values in the set. N

b. Average is a number which is roughly between the smallest and the __Lgxm_

number or quantity.
c. The average gives us an idea about the'general value of a Q:XOQ .

d. The average is the G«Zi'e hmei;i(ql m m:)alue of the number of given values.
l

L oy fSum of the values Average X _

’ N

25 Do as dlrected

a) Find the average of 1% flVe prime numbers.

Mot AN e pmme‘hgrr\bef

b) Whatistheaverageweigght 14g, 16g, 36g, 428
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c) Find the average if number of itém is 15 and the total value 6f item is 105. i
wns- Total Vajug. =105
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d) Find the average of 77' g
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= 35 3%

Y\n_ t\um'bms ot auontiHies given = 3

ae 20 32607 and 11

 Ans.
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No - o itemS = Q)
avereage = 9|
DL =

3. Solve as per the given instructions:

a) The average height of a family of five is 150cm, if the height of 4 family members is 153cm,

150cm, 151cm, and 152cm, find the height of the fifth member.

; sage (¢ lsocm ]
TC\:zsn wfhehvioto%, h‘?,l%/h& of +he membexs 'S.,;OEOYB’)
= 350606
of UmembesS s
The total neight . hm

Y 3 ERLERLE, .
The heiht o the 41rth Membey 15= =( ¥50= 60'4, lyyca

b) Theaverage of 5 numbersis 25 and the average of another 5 numbers is 35. Fll’ld the

average of the 10 numbers taken together. /= '/

Ans. AV@KC\‘ﬁe ot Bnumbgrgg ig XLH
No_of . jteme = h

Ihverage of | 5 |nnmbeys 1S 35 - 51435 - 160 =7

roef e te=ih Yotal UOtkiLR b e + = 10
~ote bl ttems 54
¢) Mini’s father earns on an average 29800 a week. How much does he earniin 52

weeks?
A= m:‘m"s fa,they axnt ON an avexoade oo
week=PRoo
52 weeks = 800% 52

= 51091600
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Sonali 11 years 10 months

Vandana 12 years

Rohit 12 years 7 months

Shweta 11 years 6 months

Vaibhav 13 years

Manik 12 years

Zakir 11 years 11 months

Chris 13 years 2 months

Ans. 2

e) Find the average of 11.35, 12.65, 11, 7.25, 14.85, 15.55

Ans.

N353 6511+ 328 41990 1T L5=}26xg
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, I = |5 .f'j - 150 ManNeEns

Vaibhay: BX1L 15¢ months,

o Manik= K2 WYY menphe
O ZAKE I HIZ 193 monihg
hBIST 13x12 4= 5% months

Tobl ageab & Studonts - 1536 months
“Vuﬁgq_ Q’L:.‘_‘.l‘.’.
)
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= Y Fmonths
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